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CS-07
December - Examination 2019
BA/BSC Pt.lll Examination
Data base Management System
Paper - CS-07
Time : 3 Hours ] [ Max. Marks :- 55

Note: The question paper is divided into three sections A, B and C.
Write answers as per the given instructions.

fAder: g we ux ‘o7, ‘¥ 3R ‘@ fiH wuel 7 Ao d g1 ud®
Gus & MGATTAR el & IR S|

Section - A 7X1=17
(Very Short Answer Questions)

Note: Answer all questions. As per the nature of the question
delimit your answer in one word, one sentence or
maximum up to 30 words. Each question carries 1 mark.

Qus - ‘37’
(rfer o7 IR 9e)
fder: vl meal & IR FRITI AT 3707 IR Bl TRATAR Tb 9Teg,
U a1 AT AfeeheH 30 ereal H IRHAHT DRI Idiep ue
1 3p & 2l
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1) (i) Write the full form of ACID.

ACID &1 quiey feTReu|
(i) What is inner Join?
RSP g FaT 8?2
(iii) Define candidate key.
dreisc Bl I gRATRT BRI
(iv) What is DML?
DML &7 8 ?
(v) Define Trigger in DBMS.
DBMS # 'R @ uRifyd $iforl
(vi) Write the syntax of DROP table from Database.
ST | 29 &l $19 A &l Rivea foRauy
(vii) What is the full form of SQL?
SQL &1 qufey &1 Bl 8 2
Section - B 4%x6=24

(Short Answer Questions)
Note: Answer any four questions. Each answer should not
exceed 200 words. Each question carries 6 marks.

Qus - §
(o7 ITRIT UeA)
fAder: gl IR Ul & IR SIVI MY U ITR Bl Afpey
200 orsgt # gRAfAT BT Ies U7 6 3ihl ol gl
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What do you mean by Aggregation? Explain with suitable
example.
TRl A 3MuesT T dTeqyf B ? S STTERr A IS

Describe integrity constraints in relational data model.

Reterer srer Afed | sehfife dAced ol A9yl

What is E-R diagram? Explain its all components.

E-R S0 7 2 ? 3d@d 9t 319gdl Pl GHLATRU

Differentiate between DDL and DML.
DDL 3R DML & &g § 3R ¥qse HIfu|

What is key? Explain super, candidate and primary with an

example.

‘B T g7 R, drelec R U ‘DI’ D IR0 Al
THEATRUI

Explain advantages of DBMS over file management system.
DBMS &7 Hhigel Ya-a- RIveq TR ol @l 9|

Explain different views of data.

ST & AR ot I ATl

Explain Armstrong's axioms of rules in functional dependency.

thaea furselt o SRRt weiam & Ml o Ayl

Section-C 2X12=24
(Long Answer Questions)

Note: Answer any two questions. You have to delimit your each

answer maximum up to 500 words. Each question carries
12 marks.
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Qus - |
(e TR ¥ed)

fAder : gl @ U9l & IR SINTTI 31T 3109 IR B 3ifrpad 500

10)

11)

12)

13)

grecl o gRAIRT Hif| U g9 12 3t & Bl

Explain the components of DBMS. Draw a neat diagram of
DBMS architecture.

DBMS & dcai &l FHesisyl DBMS affdhcaer & ¥use ffd
HIfTT

Explain ER modelling with the help of database for a banking
management system.

dfep Homic Riveq & fofv sreed 6 ER Aisfor @ 93|

Discuss the various fundamental operations in relational
algebra with suitable example.

ReleFel TeuisT & I themred JATRIH P IR0 Ald
afofd |

Consider following tables:
Branch (Branch no. Street, City, Pin code) Staff (Staff no.,
Fname, Position, Sex, DOB, Salary, Branch no.)

Answer the following queries using SQL commands -

ffelRaa @kt @1 SQL FHHTE Hl AGIT | IR S|

(i) List all staff with a salary b/w Rs. 20000 and Rs. 30000 of
branch office Delhi or Jaipur.
ot T & g Pl R daRt 20000/ - 3R
30000/ - 393 &I 3R a1 BRI fCeel 1 SR &l
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(ii) Fin. the no. of staff working in each branch & sum of their
salaries.
& ARAT & Fft HRRT T I TAT ST DT FoIT I
P HeRl g1yl

(iii) Find all staff whose salary is larger than the salary of
atleast one member of staff branch 'BO3'.
S A4} T DT HelRl ST Dhiforg T omaT 'BO3' & &1
A T P Th HaR | SIS &

(iv) Give all staff a 3% pay increase.

et ¥k P A 7 3% IfgaR Tesul
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